Name: Period: Date:
Question #1 Question #2 Question #3
3.MD.8: DOK 2 3.MD.7: DOK 1 3.MD.5: DOK 2

Draw three different
rectangles with a perimeter
of 20 units.

Find the rectangle’s area.

The length of one side of a
rectangle is 6 cm and its
perimeter is 16 cm. What is
the area of the rectangle in

Which square is bigger: a
square with a perimeter of
36 units or a square with an
area of 36 square units?

You must earn at least 8
points by doing the problems
of your choice. You may
work by yourself or in pairs
but each person needs to
turn in separate work. Circle
the questions you have
answered.

8 square centimeters?
13 units
2 points 1 point 2 points
Question #4 . Question #5
4.MD.3 : DOK 2 |nStrUCt|0nS 4.MD.3 : DOK 3

What is the greatest area
you can make with a
rectangle that has a
perimeter of 24 units?

2 points 3 points
Question #6 Question #7 Question #8
4.MD.3:DOK 3 3.MD.8: DOK 2 3.MD.8: DOK 1
What is the greatest What is the area of a square | Find the rectangle’s
perimeter you can make on | that has a perimeter of 20 perimeter.
a rectangle with an area of | units?
24 square units?

13 units
3 points 2 point 1 point
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